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2N
X ZH -
L= B

el

MBS T A A
sacael
BAUN YL HFH B

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OOt - OrL X7 XIgaxE SEAY 20,000
SHEMEBESHL(ARXF) 1,700,000 0 1,700,000
Xl 1,190,000
e 510,000
401 Al HIZ 201 8] 1,700,000 0 1,700,000
Xl 1,190,000
e 510,000
01 A& HI 1,700,000 0 1,700,000
OHFXF Nt SIHAY 1,700,000
X 1,190,000
s 510,000
SHEMEES NS (ZIRF) 900,000 0 900,000
Xl 630,000
s 270,000
401 AIEHI L 201 900,000 0 900,000
Xl 630,000
s 270,000
01 A& HI 900,000 0 900,000
OFEXF XNLax=E ALY 900,000
Xl 630,000
e 270,000
OHEXLOIS4d=E HFH 25 1,219,234 1,503,520 A 284,286
Xl 480,000
= 36,000
s 703,234
L2REFEANE 2Y 154,520 154,520 0
201 ¢er24| 148,735 148,735 0
01 At 22l 148,735 148,735 0
O =& Z Attl 148,735
OXlst=2 22 A (110 =)
75,8002 22404 2~ 16,980
OHZEALA AL (BHES)
30,7003 *28H 2 %23 1,720
OHZ2 2 AHI(INES)
217,000 #2874 2 6,076
OO0 S 44T 2 AHI (5601 & =)
319,200 25304 2 80,758
OO0 S4&+=T A (131 =)
56,520 *253H 2 33 42,899
OSALELTAAE (THES)
30,2003 *20H 2 53] 302
206 M= Hl 5,785 5,785 0
01 M= 4l 5,785 5,785 0
ODIZML+THRANE RRHLE Y
170,000 20 A 3,400




2N Aol AIE A
Y M2
SR SOEXNSH4LE SN B3 EERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OllSd+E A=otzg
3,000 x3kg 265l A~ 2,385
I ZMEQ TR (MERS) 300,000 499,000 A 199,000
Xl 210,000
= 90,000
401 AlEHIZ 201 Y| 300,000 499,000 A 199,000
N 210,000
= 90,000
01 Al&H| 298,000 496,000 A 198,000
OsE=sY MES INEAY 298,000
N 210,000
= 88,000
03 A& £ HH| 2,000 3,000 A 1,000
O=sEsd MEES LAY 2,000
A2 =5 EEF5 AAE HEAY 385,714 386,000 A\ 286
Xl 270,000
= 115,714
401 A& HI L 204 HI 385,714 386,000 A\ 286
Xl 270,000
= 115,714
01 Al&H| 382,714 383,000 A\ 286
OAARLEELSSIAIAE HEAIE 382,714
N 270,000
= 112,714
03 Al&E 21| 3,000 3,000 0
OATARTELSIAIE HEALS 3,000
MALECHER2Y 4,000 4,000 0]
202 044 3,000 3,000 0
01 2L Y| 3,000 3,000 0]
Oat= 2tad 2L HI 3,000
203 R F & 1,000 1,000 0
03 AIZH =X 2= X H| 1,000 1,000 0
oM=L 2t 0Igh& 1,000
ARBEEAENS ALY 255,000 260,000 A5,000
401 AlEHIZL £ 0HY| 255,000 260,000 A5,000
01 Al&H| 255,000 260,000 A5,000
OLAABREZAIE HES=AIY 75,000
OEZE0IE AL AIE HESAY 50,000
O2202 AT AE HELAY 25,000
OXLZHHANELI(HAMHE)
18,000,000 » 10 A 180,000
ARARLETALRAE 2 ALY 120,000 200,000 A 80,000
& 36,000




SA: ABIAZAIYA
E: LT
©@H2 sHEXNYG0SAdsE N B3 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 84,000
401 Al HI YL 2 0HHI 120,000 200,000 A 80,000
= 36,000
2 84,000
01 Al 120,000 200,000 80,000
OLRZATAE ASBRIAY 120,000
o= 36,000
= 84,000
S3otx=% 22l 15,710,793 19,608,638 N 3,897,845
= 7,402, 150
Xl 500,000
& 1,194,690
iy 6,613,953
ot XelAE2d 3,080,529 2,109,424 971,105
otXelAld&dg el 2,077,686 1,190,286 887,400
201 et A | 761,301 690,659 70,642
01 At 22l ] 57,700 45,440 12,260
Obt=2H| 55,600
Oodt+8&ESHeldl (A, als, HFE)
130, 000& *250& 32,500
Og+AY U PHE 22 MY
300, 000& *43] 1,200
OdtE=MMHI| ELELHAIE d224|
60,0002 *218t 2 %37 A 3,780
OBE=FII DEAAN 248
290,000& x8E *13| 2,320
O2eAFNAAI =22 400,000& 34 A~ %43] 4,800
O@INIEH HIIBA =22 (04)
2,000,000& x13] 2,000
O@IIEH AMAC =22 (27,810, 3)
9,000,000& x13] 9,000
(@M=l 2,100
Oo&gs 100,000& *7H »23| 1,400
O& Y3t 50,000 *7H *13] 350
O&s & 229 50,000 *7H x13] 350
02 3524t 703,601 645,219 58,382
02222 2 MA 586,900
ODHBIEHEAE HIRB (B, BsAld
L) 42 ,500,000& *123] 510,000
OMOISAIE &2 5,000,000& *123] 60,000
O&EI|otA & 3l ] 100,000& x13] 100
OTLHOAHA dE23 4] 1,000,000& *12& 12,000
OABotd X2l 400,000 x12& 4,800
O A& &H|l K X Hl| 111,491
OA==2 FA22Yl 1,017& *5,055m 5,141




A dot=Z A A
B ZRoAE B2
thel: Ste=E2LMHelANE2Y
SA BB O () - MM - HES 0l &+ o4 il
Odt=HMelAlE JIHAIE S 2el 30,800
— HEI X &2l 200,000 x12CH*23] 4,800
—duEIT S22 1,000, 0002 »3CH 3,000
—=3SEIZ S22 1,000, 000& *5H 5,000
—NSUE M 500,000& »2CH 1,000
— U F2H =4 1,000, 000& *6CH 6,000
—dBJIHmX 22 500,000& +8CH 4,000
— 2 BEHEX sAH X8I =
3,500,000 »2CH 7,000
OEx=AE sae 22,000
—OE 6,000,000 = 1CH 6,000
—AEFLEEZ = L Wil
8,000,000 = 1CH 8,000
—2ZdAM FR&2 2,000,000 »4CH 8,000
OMoIs8AE X2l 9,500
—duEIT S22 500,000 »4CH 2,000
—=3SEIZI S22 500, 000& *2CH 1,000
—3ZdM X&) 1,750, 000& »2CH 3,500
—&IIANE 228 7Y
25,0003 100 =105 2,500
— HAS&H SA & 500,000& = 1CH 500
Odt=HMelAlE &EIIAIE S 2el 29,650
—t2s SNES 50,000 =334 1,650
—HIIANE A2 20,0003 x10J4 x10& 2,000
—S2Ha PCSHETLY
1,000, 000& *2J4 2,000
— =& =4 2,000,000 »2CH 4,000
—oHE 5,000,000 =4CH 20,000
O==&TMS X2l 9,600
— d& &2l & At 9,600
O&a g &l Sl 4,800
—=x=HEJ EHWA 1,500, 000& *23| 3,000
— DO & =1 Al 500,000 *23| 1,000
—DABINEZI MHEE LA
400,000 »23| 800
O Xt &M B y| 2,605,000 *2CH 5,210
202 odl 7,050 7,050
01 2LH0l bl 4,650 4,650
Odt=HXelAlE R=ENHI 4,650
05 B2 WA 2,400 2,400
Ost=45t+S 83 WsHL 600,000& x4H 2,400
203 R F=&H| 1,000 1,000
03 AIBFAH S =AY 1,000 1,000




SA: ABIAZAIYA
Hm: ZZAE 22
thel: Ste=E2LMHelANE2Y (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Odt=HelAle 82 & QIddiA 1,000
206 M= Hl 67,285 67,285 0
01 MHZ 8l 67,285 67,285 0
Odt=HXclAlE &S 27,060
LE(AMA) 2203 *200kg *365 16,060
ODNEXNSEM (LA 110,000& »100L 11,000
OMOIEAE A7 28,285
OEclgstL=20|s (PAC)
370 »1852| B 365! 24,985
ODNEXNSEM (LA 110,000& 30X 3,300
Oagazd 11,940
OaEa ALY 50,0003 x 155 43| 3,000
Oags =7 722 80,000& x105 *43| 3,200
OU&EZZ HECZZEE 2 70,000&+50S 3,500
OMOIZAE A L A 2
70,0003 x16 5 *23| 2,240
307 21201 A 169,050 150,600 18,450
05 RIZIRI & 3 169,050 150,600 18,450
OZIALANAY LA (DY, 3l8H,HT)
169, 050 0003 * 14 169,050
401 Al Bl 2B 1,056,000 230,000 826,000
01 A& HI 1,056,000 230,000 826,000
O==&ATMS( L) =FI(Jl WAl 225,000
O=&TMS(3I3, HT) =FIIJ| wHM & He 97,000
OJls&ctF ol & =&l 734,000
ONSZAMAAIAS SB2A(WH)S A 300,000
ONM=sA3E =& L Wil
20,000,000 =2CH 40,000
OFBAALI =& X WH
20,000,000 =2CH 40,000
ORYEZ MIALE & L WA
10,000, 000& »2CH 20,000
OFEZ RoJl +48 2 DA
25,000,000 »4CH 100,000
Og=J =& & 20,000,000 »2CH 40,000
OZclHAsENEX =& E WA
2,000,000& 14 22,000
OMoIBAE ¥ SEXEX =Xl &4
10,000,000 * 14! 10,000
O&tgt 3 &A= WA (D0,MLSS,PHH = DI
AN DM & WE) 100,000
OXNSESAIAE X 50,000,000& =14l 50,000
OAFMHEH (RET =5 ,24+5) &1
12,000, 000& 14! 12,000




2N
X ZH -
L= B

el

ASts T AP A
3otk 2d
Ste=E2xXelAMd2d

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
405 XHoHF SHI 16,000 5,200 10,800
01 Mt =S FSHI 16,000 5,200 10,800
(©X3=1] 2l 2 WH(SUYEI=SMI|A UPSA
) 2,000,000& =2CH 4,000
OAE Al BODE A ZHI(D0 Meter) &
5,000,000& = 1CH 5,000
OF& A, 02 0lsA s8I 7¢
7,000,000& = 1CH 7,000
ShdXeAd2E 2 65,000 275,000 A 210,000
201 L2 Y| 20,000 20,000 0
02 352494l 20,000 20,000 0
O2=dXelAldE S22 20,000
O&3I =H 2,500,000& =4 CH 10,000
Ol =4 5,000,000& x 14 5,000
OZTID Hi2S =4 1,000,000& *53] 5,000
401 AIEHI L 20| 45,000 255,000 A 210,000
01 Al bl 45,000 255,000 A 210,000
OJIsd=HZ0 e E-8&E=SE Ml
= 2 WX 5,000,000& = 1CH 45,000
ot NESsAE2g 22 386,640 322,640 64,000
201 Yot Y| 35,000 25,000 10,000
02 2=l 35,000 25,000 10,000
Oodlx=EdNESALE ST 2 (FRHE,8108) 35,000
ORA2H =4 2,000,000& *x24! 4,000
o3JIg=s) =4 2,000,000& x4& 8,000
ogus =4 1,000,000& x4= 4,000
ogezg &4 1,000,000& x4 = 4,000
OJIEtAE2E WA 100, 000& x10E x53] 5,000
Of=s&E NsSEHI| =& 10,000,000 14 10,000
206 M = Hl 14,640 14,640 0
01 X2 Hl 14,640 14,640 0
E=3tAld ZTHX HE M
B600& *1,70001 = 12& 12,240
OEY 2 10,000& *200 12& 2,400
401 Al HIL 201 337,000 283,000 54,000
01 A& HI 337,000 283,000 54,000
022t sH ¥ HEEe0 2 wH
90,000, 000& *14] 90,000
OF=ZHI0IH, SMII, 0l E/V A
150,000, 000& =14 150,000
Oz 0l B Wi 35,000, 000& *14] 35,000
O SZAAF A 7,500,000& *2CH 15,000
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A dot=Z A A
Hm: ZZAE 22
SR P ENE (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZNBEE (39,90 ANFHY =g
99,880& x3H x53| 1,499
201 L2l 2,140 2,140 0
02 =224l 2,140 2,140 0
oA ZHl 1,140
O L ZCRI(FLR)
1,520& x502| E x153] 1,140
O A& ZEHls X bl 1,000
OAZ2F (KA L ZCIHIN)
200,000& x53] 1,000
206 M= Hl 1,600 1,600 0
01 =8l 1,600 1,600 0
Os=sAFL(M=HM S) 200,000 »3 A 600
Oot=HMelAlE =37 ¢
2,000& *10001 x5 1,000
I stot=HMel Al 823 274,651 138,172 136,479
101 14 Hl 2,997 2,601 396
04 DI 22 XRHEES 2,997 2,601 396
OBt 4 AL L 2B 0FHY ARy
99,880+3H x2 «53] 2,997
201 L2l 88,950 85,350 3,600
01 At 22l 22,350 22,350 0
O el 22,350
Oot=2LIH 2l 121,000 150 18,150
OReZHANAESZ 150,000& = 12& 1,800
O&JItMUE =2 200,000 122 2,400
02 =224l 66,600 63,000 3,600
0332= % HAl 38,400
Odt=HelAlE &JIe= 3,000,000&+12& 36,000
Ostes 200,000& »12& 2,400
O A& &8l =Xl 28,200
O&3JI=d 500,000& =4 CH 2,000
O8&sHdaI sXA2e 3,000,000% = 1CH 3,000
Ozt & 325 SI&2l 500,000 =10CH 5,000
OEHI =4 5,000,000% = 1CH 5,000
O=ZTMS 22| ZAtHl 9,600,000& *13 9,600
OFelA Y (Rs=8) 50,0002 *6)H 128 3,600
206 M= Hl 27,704 10,221 17,483
01 = 8l 27,704 10,221 17,483
ONEBXNHSEM(HA) 9,000& *4kg*365< 13,140
ONES(Z2AHMA) 1,000& *30kg*365 10,950
OLE(LHMN) 2203 »45kg 3652 3,614




SA: ABIAZAIYA
Hm: ZZAE 22
thel: Ste=E2LMHelANE2Y (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 155,000 40,000 115,000
01 A& HI 155,000 40,000 115,000
OJlsdlt 2o ME =&l 130,000
OASHHI(W) & XIS A 90,000
OlOlM=A23g =& Y WXl 10,000
O=ZASI(MLSSHZII) NI A 30,000
OkL= SJ17 WUAHSA 1,000,000& =104 10,000
OOFAE Al (Mtnet, 82, SEt2]) B=
S A 5,000,000& =14l 5,000
OoftEx == CZ'H ZH WHMSA
10,000, 000& = 1CH 10,000
HFESt=XANE2E 201,201 121,122 80,079
101 @124 dl 2,997 2,601 396
04 JIZHHZ2XRHEES 2,997 2,601 396
Oot=HMelAE X M2 MZURY
99,880& *3H 2«53 2,997
201 Yet2 2t 110,060 106,460 3,600
01 At 2t 2/l 27,760 27,760 0
oLt~ 27,760
Oot=2LIA 2l 121,000 160 19,360
ORoZHAAE T
200, 0003 204 2% 12 4,800
OHIItdE == 150,000 2 A+ 123 3,600
02 2324l 82,300 78,700 3,600
O=Z223LHA 63,600
OHFot=HMeANE EIIe=
3,500,000& x12& 42,000
OZHEHEZ M3 (Zds24Hn)
1,500,000& 122 18,000
OSLHH Stz 300,000& »12& 3,600
O A& ZHI S X 18,700
OJIHAANE =X 2teldl 300,000& 108 3,000
O&EIIANE X2l 200,000& *10& 2,000
Obl&gdI| X222 500,000& = 1CH 500
O=ZTMS =22l J Al 9,600,000 =12 9,600
OFela Y (Rs =)
50,000& 6o 122 3,600
206 M= Hl 29,144 12,061 17,083
01 MHZ 4l 29,144 12,061 17,083
Os%+Y 200,000 »3% A 600
O XSE M (M) 9,000& *4.5kgx365 14,783
OLS(LHAM) 2203 «35kg 365 2,811




2N Aol AIE A
Ny ZRolAT B2
CH2l: S22 HeAd2d (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OHEs(E2AMAN) 1,000& *»30kg*365 10,950
401 A& H|IZ 2 0HY| 59,000 0 59,000
01 Al& B 59,000 0 59,000
OYsS STHEHIH OIHEH AXl3At
8,000,000 1 H & 3CH 24,000
ot - 2AdEIZ NI &X2At
15,000,000 = 1CH 15,000
OL= SJI7 WA S3A 1,000,000 = 107K 10,000
OtESX &5 CZ'Ee 26 DAHZA
10,000, 000& = 1CH 10,000
otE=Hcel &A™ 7,965,930 9,340,000 N 1,374,070
= 4,876,550
Xl 500,000
o 1,194,690
= 1,394,690
NHSHAEHNOISAIE LA (DEMEIMESISAIEX 1,000,000 800,000 200,000
)
Xl 500,000
& 150,000
= 350,000
401 AlEHIZL 2 0HY| 1,000,000 800,000 200,000
Xl 500,000
& 150,000
= 350,000
01 Al&H| 994,000 790,000 204,000
ONHMEfNESSAEXTLEANSY 994,000
N 500,000
= 150,000
= 344,000
03 Al 201 Y| 6,000 10,000 A4 ,000
ODNHMEMESSAEEZLAIY 6,000
ot=E9o &X ¥ 22 (sHE0SotE== ™) (WLl 3,313,640 2,967,000 346,640
2)
= 2,319,550
& 497,045
= 497,045
401 Al HI L E0HHI 3,313,640 2,967,000 346,640
= 2,319,550
o=} 497,045
= 497,045
01 Al&H| 3,310,640 2,962,000 348,640
OUAS=sUHE0S St FHIAMS 3,310,640
= 2,319,550
& 497,045
= 494 045
03 AlE 21| 3,000 5,000 A 2,000




2N
X ZH -
L= B

el

ASts T AP A
3otk 22
St=HMelZ A

Off &t 24

=

i
2m

3,000

Mo H

731,430
512,000
109,715
109,715

1,096,000

N 364,570

401 AIEBIZ 2T

Mo H

731,430
512,000
109,715
109,715

1,096,000

N 364,570

01 A€ HI

Ossat=0 &0t

1o
ol
i
in
04
==
=
e

03 Al 2 THHI

OSs=sUHENS otk

0
=
=
1)

Mo H

729,430
729,430

512,000
109,715
107,715

2,000
2,000

1,094,000

2,000

A 364,570

== X ¢ 2el(sHEOSot+=S ") (S8)

[e]]

Mo R

,064,290

1,445,000

309,645
309,645

3,097,000

A1,032,710

401 AIEBIZ 2THEI

Mo R

—_

,064,290
,445,000

309,645
309,645

3,097,000

A 1,032,710

01 A€ dl

OSEsOUHENS ot EBIAE

03 Al 2 THHI

OSE=0ENES ot FHIAY

HH A

,062,290
,062,290
,445,000

309,645
307,645

2,000
2,000

3,094,000

3,000

A1,031,710

A 1,000

=2 X ¢ Zel(sHEOSot+Z ") (5H)

[e]]

Mo A

428,570
300,000
64,285
64,285

428,570

401 AIEHIZ 2 THYI

MW

428,570
300,000
64,285
64,285

428,570

01 A& Hl

OSE=sUHENS St ZHIAY

)4

MW

428,570
428,570

300,000
64,285
64,285

428,570

Qj
>
H
lo
nx
ﬂ
Ne
el
o
(Ui
=}
1
=
o
Qj
>
H
0
=5
o
08

H

428,000
300,000

428,000




2N Aol AIE A
Ny ZRolAT B2
E2: olx=Xel &AL (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 64,000
= 64,000
401 AlEHIZL £ 0HY| 428,000 0 428,000
= 300,000
< 64,000
= 64,000
01 Al&H| 428,000 0 428,000
OFZ=s0ZE0tS ot A HHIAIYE 428,000
= 300,000
& 64,000
= 64,000
2t A 3,988,000 7,617,000 A 3,629,000
= 2,525,600
= , 462,400
Kol XU ALY 380,000 430,000 A 50,000
401 Al HI L £ 0HHI 380,000 430,000 A 50,000
01 Al& H| 380,000 430,000 A 50,000
SHEIE=SEHIAFY 380,000
OLNHES o= 8H ZA 50,000
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